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Unit 4: Many maps, same place
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Lesson 3: Pupil Resource 4a

Find the difference

Here are two arguments that follow the same pattern as those in Activity 1.

1. DO I HAVE A SKELETON?

PREMISE A          All mammals have a skeleton

PREMISE B          I am a mammal

CONCLUSION      So I have a skeleton

2. DOES GOD KNOW EVERYTHING ABOUT ME?

PREMISE A        God knows everything about people   

PREMISE B        I am a person

CONCLUSION    So God knows everything about me.

Both of these arguments have the same pattern.  They both have valid conclusions that follow on from both premises.

But:

	Question: Which conclusion do we know is TRUE?

	

	Answer: Conclusion1, ‘so I have a skeleton’.

	Why?  Because we know from science that all mammals have skeletons and that if I am a human I am a mammal.


	Question: Why is it hard to say if Conclusion 2 is true or not?

	

	Answer: Because we may not be sure about premise A. It all depends on whether we believe in God in the first place.


Logic is good for explaining some questions, and checking the answers -  but not all questions.  Some of the BIG questions of life are too tricky even for logic!
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